Name:Logan AshenStudent ID:23369872Birthdate:12/22/1997



Page 1 of 3 Print Date: 06/19/2024 Official Academic Record

	Degrees	s Awarded									
Degree:	Bachelor of Science						Spri	ng 2017			
Confer Date:	05/15/2020					Course	Description	AHRS	<u>EHRS</u>	<u>Grade</u>	Points
Degree GPA:	2.458					ANTH 160A1	Patterns in Prehistory	3.000	3.000	D	3.000
Plan:	Major in Criminal Justice S	Studies				ASTR 170B1	The Physical Universe	3.000	3.000	č	6.000
Plan:	Minor in Psychology	Staaloo				ENVS 170A1	Intro Environmental Sci	3.000	0.000	Ĕ	0.000
	Willion III T Sychology					Repeated:	Grade Replacement Opportu		0.000	-	0.000
	Beginning of Un	doraroduot	o Dooord			PHIL 213	Contemp Moral Problems	3.000	3.000	С	6.000
	Beginning of On	uergraduat	e Record			SPAN 102	Second Semester Spanish	4.000	4.000	č	8.000
						Course Attrib:	SUN# SPA 1102 - Beginning		4.000	0	0.000
_		rogram Histo	ry			Course Attrib.	Solu# SI A 1102 - Deginning	opanishin			
Program:	College of Soc & Behav S	SCI						AHRS	EHRS	QHRS	Points
03/23/2016	Active in Program					Term GPA:	1.769	16.000	13.000	13.000	23.000
	Major in Criminal Jus	tice Studies				Transfer Term GF		0.000	0.000	0.000	0.000
						Combined GPA	1.769	16.000	13.000	13.000	23.000
Program:	College of Soc & Behav S	Sci				Combined GPA	1.769	16.000	13.000	13.000	23.000
03/26/2019	Active in Program								FUDO		<b>D</b> : /
	Major in Criminal Jus	tice Studies						AHRS	EHRS	<u>QHRS</u>	Points
	Minor in Psychology					Cum GPA:	2.241	32.000	29.000	29.000	65.000
						Transfer Cum GP		26.000	26.000	0.000	0.000
Engaged Learning E	Experience: Comp	oleted				Combined Cum G	FPA 2.241	58.000	55.000	29.000	65.000
							En	II 2017			
	Transfer C	redits	00.000			Course	Description	AHRS	EHRS	<u>Grade</u>	Points
Estrella Mountain (	Community College		26.000			ECON 200	Basic Economic Issues	3.000	0.000	E	0.000
						Repeated:	Grade Replacement Opportu		0.000	E	0.000
		l 2016				PA 324	Law and Morality	3.000	0.000	Е	0.000
	<u>Description</u>	<u>AHRS</u>	<u>EHRS</u>	<u>Grade</u>	Points	PA 324 PA 342	Criminology	3.000	0.000	E	0.000
	Public Policy + Admin	3.000	3.000	В	9.000	Repeated:	Grade Replacement Opportu		0.000	E	0.000
	nternational Relations	3.000	3.000	С	6.000	POL 201	American Natl Govt	3.000	0.000	Е	0.000
	SUN# POS 1120 - World/Glo						SUN# POS 1110 - US Gove			E	0.000
RCSC 150B2	Money, Consumers & the	3.000	3.000	С	6.000	Course Attrib:	SUN# POS 1110 - 05 Gove	mment/Politics	i		
	Family								FUDO		<b>D</b> · · ·
	Christianity & Art	3.000	3.000	В	9.000		0.000	AHRS	EHRS	<u>QHRS</u>	Points
	First Semester Spanish	4.000	4.000	В	12.000	Term GPA:	0.000	12.000	0.000	6.000	0.000
Course Attrib: S	SUN# SPA 1101 - Beginning	Spanish I				Transfer Term GF		0.000	0.000	0.000	0.000
						Combined GPA	0.000	12.000	0.000	6.000	0.000
		AHRS	<u>EHRS</u>	<u>QHRS</u>	Points 1						
Term GPA:	2.625	16.000	16.000	16.000	42.000			AHRS	EHRS	<u>QHRS</u>	Points 1997
Transfer Term GPA		26.000	26.000	0.000	0.000	Cum GPA:	1.857	44.000	29.000	35.000	65.000
Combined GPA	2.625	42.000	42.000	16.000	42.000	Transfer Cum GP		26.000	26.000	0.000	0.000
	-			'		Combined Cum G	PA 1.857	70.000	55.000	35.000	65.000
		<u>AHRS</u>	EHRS	QHRS	Points						
Cum GPA:	2.625	16.000	16.000	16.000	42.000						
Transfer Cum GPA		26.000	26.000	0.000	0.000						
Combined Cum GP	A 2 625	42.000	42.000	16.000	42.000						
		12.000	12.000	10.000	12.000						

Alex Underwood

Alex Underwood University Registrar Name:Logan AshenStudent ID:23369872Birthdate:12/22/1997



Page 2 of 3 Print Date: 06/19/2024 Official Academic Record

	Fall	2018						AHRS	EHRS	QHRS	Points
<u>Course</u>	Description	AHRS	EHRS	Grade	Points	Term GPA:	3.000	10.000	10.000	10.000	30.000
ECON 200	Basic Economic Issues	3.000	3.000	D	3.000	Transfer Term G	PA	0.000	0.000	0.000	0.000
ENVS 170A1	Intro Environmental Sci	3.000	3.000	В	9.000	Combined GPA	3.000	10.000	10.000	10.000	30.000
PA 241	Criminal Justice Admin	3.000	0.000	В	9.000						
Repeated:	Include in GPA							AHRS	EHRS	QHRS	Points
PA 342	Criminology	3.000	3.000	С	6.000	Cum GPA:	2.246	78.000	60.000	69.000	155.000
						Transfer Cum GF		26.000	26.000	0.000	0.000
		AHRS	EHRS	QHRS	Points	Combined Cum (		104.000	86.000	69.000	155.000
Term GPA:	2.250	12.000	9.000	12.000	27.000			101.000	00.000	00.000	100.000
Transfer Term G		0.000	0.000	0.000	0.000		Fa	ll 2019			
Combined GPA	2.250	12.000	9.000	12.000	27.000	Course	Description	AHRS	EHRS	Grade	Points
	2.200	12.000	0.000	12.000	21.000	PA 410	Public+Nonprof Fin Mgmt	3.000	3.000	B	9.000
		<u>AHRS</u>	EHRS	QHRS	Points	PA 420	Regulating Intoxicants	3.000	3.000	A	12.000
Cum GPA:	1.957	56.000	38.000	47.000	92.000	PSY 240	Developmental Psychology	3.000	3.000	ĉ	6.000
Transfer Cum Gl		26.000	26.000	0.000	0.000	PSY 300	Mind and Brain	3.000	3.000	c	6.000
Combined Cum		82.000	64.000	47.000	92.000	PSY 352	Personality	3.000	3.000	В	9.000
Combined Cum	GFA 1.957	02.000	04.000	47.000	92.000	PSY 378	Psyc/Law+Juvenil Justice	3.000	3.000	В	9.000
	Spring	1 2010				F31 370	F Syc/Law+Suverill Sustice	3.000	3.000	Б	9.000
Course	Description	AHRS	EHRS	Grade	Points			AHRS	EHRS	QHRS	Points
ASTR 202	Life In The Universe	3.000	3.000	B	9.000	Term GPA:	2.833	18.000	18.000	18.000	51.000
PA 337	Sex Offenses + Crim Just Syst	3.000	3.000	C	6.000	Transfer Term G		0.000	0.000	0.000	0.000
PA 350	Police Accountability	3.000	3.000	В	9.000	Combined GPA	2.833	18.000	18.000	18.000	51.000
SBS 200	Intro to Stats for Social Sci	0.000	0.000	Ŵ	0.000	Combined GFA	2.055	18.000	10.000	10.000	51.000
SGPP 300A	Politics, Policy & Govern-US	3.000	3.000	B	9.000			AHRS	EHRS	<u>QHRS</u>	Points
JULA	Folices, Folicy & Govern-03	3.000	3.000	Б	9.000	Cum GPA:	2.368	96.000	78.000	87.000	206.000
		AHRS	EHRS	QHRS	Points	Transfer Cum GFA:		96.000 26.000	26.000	0.000	206.000
Term GPA:	2.750	12.000	12.000	12.000	33.000	Combined Cum G		122.000	104.000	87.000	206.000
Transfer Term G			0.000		0.000	Combined Cum C	GPA 2.300	122.000	104.000	87.000	206.000
	2.750	0.000		0.000							
Combined GPA	2.750	12.000	12.000	12.000	33.000	-		ng 2020			
		AHRS	EHRS	QHRS	Points		evised grading policies in place.	P grade in S	pecial Pass/Fa	al satisfies pro	ogram
Cum GPA:	2.119	<u>Апкэ</u> 68.000		59.000		requirements.	Description		FUDO	Oneste	Delate
			50.000		125.000	Course	Description	AHRS	EHRS	<u>Grade</u>	Points
Transfer Cum Gl		26.000	26.000	0.000	0.000	CLAS 204	Ancient Hist: Greek Hist	3.000	3.000	Р	0.000
Combined Cum	GPA 2.119	94.000	76.000	59.000	125.000	Grading Basis:	Special Spring 2020 Pass/Fa		0.000	5	0.000
						GWS 200	Women+Western Culture	3.000	3.000	В	9.000
•	Summe			<b>.</b> .	<b>D</b>	PA 331	Criminal Justice Ethics	3.000	3.000	Р	0.000
Course	Description	<u>AHRS</u>	EHRS	Grade	Points	Grading Basis:	Special Spring 2020 Pass/Fa		0.000	5	0.000
PA 406	Bureau, Politics+Policy	3.000	3.000	В	9.000	PA 470	Public Organization	3.000	3.000	В	9.000
PSY 313	Drugs and the Brain	3.000	3.000	В	9.000	DA 400	Managemnt	0.000	2.000	<b>D</b>	0.000
SBS 200	Intro to Stats for Social Sci	4.000	4.000	В	12.000	PA 493	Internship	3.000	3.000	P	0.000
						PAH 150A1	Game Sights, Sounds &	3.000	3.000	A	12.000

Stories

Alex Underwood

Alex Underwood University Registrar Name:Logan AshenStudent ID:23369872Birthdate:12/22/1997



Page 3 of 3 Print Date: 06/19/2024 Official Academic Record

		AHRS	<u>EHRS</u>	<u>QHRS</u>	Points
Term GPA:	3.333	18.000	18.000	9.000	30.000
Transfer Term GPA		0.000	0.000	0.000	0.000
Combined GPA	3.333	18.000	18.000	9.000	30.000
		<u>AHRS</u>	<u>EHRS</u>	<u>QHRS</u>	Points
Cum GPA:	2.458	114.000	96.000	96.000	236.000
Transfer Cum GPA		26.000	26.000	0.000	0.000
Combined Cum GPA	2.458	140.000	122.000	96.000	236.000

End of Undergraduate Record



Alex Underwood University Registrar



Registration and Transcripts P.O. Box 210066 Tucson, Arizona 85721-0066 (520) 621-3113 https://registrar.arizona.edu

Pursuant to the Family Educational Rights and Privacy Act of 1974, this information has been provided to you with the understanding it will be used only for the purposes for which it has been provided and it will not be released to other parties without the written consent of the student.

Accreditation: The University of Arizona is accredited by the Higher Learning Commission. https://www.hlcommission.org

# Transcript Guide to Coursework Beginning Spring 1988

## **Course Numbering System**

- 100 299Lower Division300 399Upper Division400 499Upper Division & Graduate500 599Graduate600 699Graduate & Professional
- 700 799 Graduate (Doctoral course work only)
- 800 899 Medicine & Pharmacy (Pharmacy effective Fall 1983)
- 900 999 Independent Graduate Study

#### Current / Cumulative Status Abbreviation System

- AHRS Attempted Hours: the total number of units registered for by the student
- EHRS Earned Hours: the total number of units earned by the student including transfer units
- QHRS Quality Hours: Completed units of A, B, C, D, and E
- Points Quality Points: Points assigned for grades of A, B, C, D, and E

Grade Replacement Opportunity Policy: The grade earned on the first attempt will remain on the academic transcript; however, only the second grade will count in the grade point average. Grades of O, W, WC, WF, WO, WP, or XO do not replace the original grade.

Academic Renewal Granted (Notation): Academic Renewal has been granted. All courses in the affected terms are disregarded in all calculations of academic standing, grade point average, and eligibility for graduation.

Second Start: Terms marked with Second Start have had academic renewal applied. All grades are disregarded in cumulative GPA.

Unit System (Credit Hour) Semesters: A unit usually represents 50 minutes of lecture or recitation or three hours of laboratory work per week for a semester of 15 weeks exclusive of the period of final examinations. (Prior to 1988, 1st = Fall Semester, 2nd = Spring Semester, 1S = 1st Summer Session, 2S = 2nd Summer Session.)

SUN Courses: Shared Unique Number (SUN) courses transfer with direct equivalency among Arizona's public community colleges and three state universities. <u>https://www.aztransfer.com/sun</u>

Student in Good Standing unless otherwise stated

For more detailed explanation of grading policies see the General Catalog. https://catalog.arizona.edu

For additional information or updates visit the Office of the Registrar website. <u>https://registrar.arizona.edu/transcript-key</u>

#### Grading System

The University of Arizona bases its grade point average (GPA) on a 4.00 grading scale. (Degrees awarded prior to 1973 reflect a CUM GPA using a reverse scale: Highest = 1.0, Lowest = 5.0)

The following grades are included in the calculations of grade point averages:

GRADE	GRADE POINTS PER UNIT			
A	4.0			
A-	3.667			
B+	3.333			
В	3.0			
B-	2.667			
C+	2.333			
С	2.0			
C-	1.667			
D+	1.333			
D	1.0			
D-	0.667			
E*	0			
*E = Fail				

The following grades are **not** included in the calculations of grade point averages:

Blank	No Grade Submitted <sup>4</sup>
CR	Credit
F	Fail
HP	High Pass <sup>2</sup>
1	Incomplete
IP	In Progress <sup>7</sup>
К	Course in Progress
0	Audit
Р	Pass
S	Superior
W	Approved Withdrawal
WC	Approved Complete Withdrawal <sup>6</sup>
WF	Approved Withdrawal from the University while Failing <sup>3</sup>
WO	Audit Withdrawal, see Audit Policy
WP	Approved Withdrawal from the University while Passing <sup>3</sup>
XO	Audit Administrative Withdrawal, see Audit Policy
Y	No Grade Due <sup>5</sup>

### Notes:

<sup>1</sup> Plus/Minus grading used only by College of Law

<sup>2</sup> Used only for medical clerkships effective Fall 2012

<sup>3</sup> Upon complete withdrawal from the University—effective Fall 1998

<sup>4</sup> Effective Spring 2003

<sup>5</sup> Prior to Spring 2010, Y = No Grade Submitted

<sup>6</sup> Effective Fall 2014

<sup>7</sup> Effective Spring 2018 for College of Law and Colleges of Medicine

Revised August 2019

This Academic Transcript from The University of Arizona located in Tucson, AZ is being provided to you by Parchment, Inc. Under provisions of, and subject to, the Family Educational Rights and Privacy Act of 1974, Parchment, Inc. is acting on behalf of The University of Arizona in facilitating the delivery of academic transcripts from The University of Arizona to other colleges, universities and third parties.

This secure transcript has been delivered electronically by Parchment, Inc. in a Portable Document Format (PDF) file. Please be aware that this layout may be slightly different in look than The University of Arizona's printed/ mailed copy, however it will contain the identical academic information. Depending on the school and your capabilities, we also can deliver this file as an XML document or an EDI document. Any questions regarding the validity of the information you are receiving should be directed to: Office of the Registrar, The University of Arizona, P. O. Box 210066, Tucson, AZ, 85721-0066, Tel: (520) 621-3113.